
SUBTRACT WHOLE TENS FROM A 2-DIGIT 
NUMBER (MISSING NUMBER)

Grade 3 Subtraction Worksheet

Find the missing numbers: 

______ – 90 = 101.
______ – 10 = 222.
73 – ______ = 633.
______ – 60 = 404.
______ – 80 = 205.
______ – 20 = 186.
87 – ______ = 777.
______ – 50 = 308.
______ – 70 = 259.
______ – 30 = 1510.
95 – ______ = 8511.
______ – 40 = 3512.
______ – 90 = 913.
______ – 10 = 1414.
62 – ______ = 5215.

16. 
17. 
18. 
19. 
20. 
21. 
22.
23. 
24. 
25. 
26. 
27. 
28. 
29. 
30. 

______ – 60 = 38
______ – 70 = 21
______ – 20 = 10
85 – ______ = 75
______ – 50 = 20
______ – 80 = 30
______ – 30 = 5
92 – ______ = 82
______ – 40 = 20
______ – 90 = 4
______ – 10 = 8

60 – ______ = 50
______ – 60 = 25
______ – 70 = 15
______ – 20 = 7



SUBTRACT WHOLE TENS FROM A 2-DIGIT 
NUMBER (MISSING NUMBER)

Grade 3 Subtraction Worksheet

Find the missing numbers: 

89 – ______ = 791.
______ – 50 = 222.
______ – 80 = 193.
______ – 30 = 64.
97 – ______ = 875.
______ – 40 = 186.
______ – 90 = 37.
______ – 10 = 118.
74 – ______ = 649.
______ – 60 = 2910.
______ – 70 = 1111.
______ – 20 = 1512.
83 – ______ = 7313.
______ – 50 = 2114.
______ – 80 = 2915.

16. 
17. 
18. 
19. 
20. 
21. 
22.
23. 
24. 
25. 
26. 
27. 
28. 
29. 
30. 

______ – 30 = 10
98 – ______ = 88
______ – 40 = 28
______ – 90 = 1
______ – 10 = 7

79 – ______ = 69
______ – 60 = 35
______ – 70 = 22
______ – 20 = 13
88 – ______ = 78
______ – 50 = 17
______ – 80 = 32
______ – 30 = 8
96 – ______ = 86
______ – 40 = 33



SUBTRACT WHOLE TENS FROM A 2-DIGIT 
NUMBER (MISSING NUMBER)

Grade 3 Subtraction Worksheet

Find the missing numbers: 

______ – 90 = 51.
______ – 10 = 32.
72 – ______ = 623.
______ – 60 = 204.
______ – 80 = 505.
______ – 20 = 126.
81 – ______ = 717.
______ – 50 = 258.
______ – 70 = 409.
______ – 30 = 1410.
96 – ______ = 8611.
______ – 40 = 1812.
______ – 90 = 2013.
______ – 10 = 914.
65 – ______ = 5515.

16. 
17. 
18. 
19. 
20. 
21. 
22.
23. 
24. 
25. 
26. 
27. 
28. 
29. 
30. 

______ – 60 = 22
______ – 70 = 30
______ – 20 = 5
89 – ______ = 79
______ – 50 = 40
______ – 80 = 60
______ – 30 = 15
94 – ______ = 84
______ – 40 = 12
______ – 90 = 17
______ – 10 = 19
66 – ______ = 56
______ – 60 = 31
______ – 70 = 50
______ – 20 = 8


